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Tutor Marked Assignment

dqy vad% 20

Max. Marks: 20

fVIi.kh% (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA
Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) mÙkj iqfLrdk ds izFke i`"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u dsUnz dk uke] fo"k; Li"V
'kCnksa esa fyf[k,A
Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft, % 2

Answer any one of the following questions in about 40-60 words :

(a) lsokvksa dk miHkksDrk lsok,a rFkk mRiknd lsokvksa esa oxhZdj.k fdl vk/kj ij gksrk gSa\ (ikB&1 ns[ksa)

What is the basis of classifying the services into consumer services or producer services?

(see lesson-1)

(b) dkj.k crkrs gq, fuEufyf[kr dks miHkksDrk oLrqvksa rFkk mRiknd oLrqvksa esa oxhZÑr dhft;s% (ikB&1 ns[ksa)

Giving reasons categorise the following into consumer goods and producer goods: (see lesson-1)

(i) fdlh jsLrjka dh jlksbZ esa lfCt;ka

Vegetables in the kitchen of a restaurant

(ii) ,d ifjokj osQ ikl flykbZ e'khu

Sewing machine with a household

(iii) ,d Nk=k }kjk iz;ksx dh tkus okyh ;wuhiQkeZ

Uniform used by a student/Learner

(iv) fdlh oSQfeLV dh nqdku esa jSizQhtjsVj

A Refrigerator in a chemist shop

2- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.
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(a) eku yhft;s] vki 50 #i;s dh dksbZ iqLrd] 50 #i;s dk Hkkstu] 50 #i;s dh vkblozQhe] viuh ekrkth osQ
fy;s 50 #i;s dk dksbZ crZu [kjhnuk pkgrs gSa vkSj vkiosQ ikl osQoy 100 #i;s gSaA bl mnkgj.k esa vkidks
fdl leL;k dk lkeuk djuk iM+rk gSA bl leL;k osQ rhu dkj.kksa dk mYys[k dhft;sA (ikB&2 ns[ksa)

Suppose, you want to buy a book for Rs. 50 some food for Rs. 50, an ice cream costing Rs. 50, an
utensil for your mother costing Rs. 50 and you have Rs. 100 with you. What problem you have to
face in this example? State the see reasons of this problem. (see lesson-2)

(b) ,d vFkZO;oLFkk osQ fy;s nh xbZ fuEufyf[kr dkYifud mRiknu laHkkouk vuqlwph dh lgk;rk ls mRiknu
laHkkouk oozQ cukb;s% (ikB&2 ns[ksa)

mRiknu e'khu pkoy
laHkkouk,a (gtkj esa) (yk[k fDoaVy esa)

A 0 14

B 1 12

C 2 9

D 3 5

E 4 0

Draw a production possibility curve with the helps of the following hypothetical production pos-
sibility schedule given for an economy : (See lesson-2)

Production Machines Rice
Possibilities (in thousands) (in lakh quintals)

A 0 14

B 1 12

C 2 9

D 3 5

E 4 0

3- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) Hkkjrh; vFkZO;oLFkk ,d fodkl'khy vFkZO;oLFkk gSA vk£Fkd fodkl dh izfozQ;k esa ,d vFkZO;oLFkk esa vuqHko
fd;s tkus okys ifjorZuksa osQ vk/kj ij bl dFku dk vkSfpR; fl¼ dhft,A (ikB&3 ns[ksa)

Indian economy is a developing economy Justify this statement on the basis of changes that an
economy experience with economic development. (See lesson-3)

(b) eku yhft;s] fdlh vFkZO;oLFkk esa osQoy rhu oLrqvksa xsgw¡] pkoy rFkk dikl dk mRiknu gksrk gSA bu oLrqvksa
dh dher rFkk mRikfnr ek=kk fuEu rkfydk esa nh xbZ gSA vk/kj o"kZ 2003&04 gS rFkk pkyw o"kZ 2013&14 gSA
ekSfnzd rFkk okLrfod jk"Vªh; vk; osQ ewY; dh x.kuk dhft;sA (ikB&3 ns[ksa)
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oLrq,a dher izfr fd-xzk- mRikfnr ek=kk dher izfr fd-xzk-
2013&14 esa 2013&14 esa 2003&04 esa
(#i;s esa) (fd-xzk- esa) (#i;s esa)

xsgwa 20 2000 10

pkoy 40 1500 20

dikl 60 500 30

Suppose, an economy produces only three goods-wheat, rice and cotton, the prices and quantities
produced of these goods are shown in the table given below. The base year in 2003-04 and the
current year is 2013-14 Calculate the value of nominal and real national income. (See lesson-3)

Commodities Price per Kg. Quantity produced Price per
in 2013-14 (Rs.) in 2013-14 (kg.) kg in 2003-04 (Rs.)

Wheat 20 2000 10

Rice 40 1500 20

Cotton 60 500 30

4- fuEufyf[kr esa ls fdlh ,d dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100–150 words.

(a) mnkgj.k nsdj lkaf[;dh; vkadM+ksa dh fuEu fyf[kr fo'ks"krkvksa dk vkSfpR; nhft;s%

(i) lkaf[;dh; vkadM+s rF;ksa ds lewg gksrs gSaA

(ii) lkaf[;dh; vkadM+s vusd dkjdksa ls izHkkfor gksrs gSaA

(iii) lkaf[;dh; vkadM+s la[;kvksa }kjk O;Dr gksrs gSaA

(iv) lkaf[;dh; vkadM+ksa osQ laxzg esa mfpr Lrj dh ifj'kq¼rk gksuh pkfg;sA

Giving example justify the following characteristic of Statistics : (see lesson -5)

(i) Statistics are aggregate of facts.

(ii) Statistics are affected by multiplicity of causes.

(iii) Statistical data are numerically expressed.

(iv) Statistical data must be obtained with reasonable degree of accuracy.

(b) fuEufyf[kr esa lkaf[;dh; vkadM+s fdl izdkj iz;ksx esa yk;s tkrs gSa\ (ikB 5 ns[ksa)

(i) vk£Fkd fl¼kUrksa dh jpuk esa

(ii) vk£Fkd fu;kstu esa
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(iii) ljdkjh uhfr;ksa osQ ewY;kadu esa

(iv) ,d vFkZO;oLFkk dh lajpuk ds fu:i.k esa

How are statistical data applied (see lesson 5)

(i) In construction of economic the aries

(ii) In planning

(iii) In evalnation of policies of the government

(iv) To leveal the structure of an economy

5- fuEufyf[kr esa ls fdlh ,d dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100–150 words.

(a) uhps fn;s x;s 40 Nk=kksa osQ vadksa ls viothZ jhfr ls vko`fÙk caVu rkfydk dj jpuk dhft;s%(ns[ksa ikB 6)

10 15 20 45 50 60 15 5

12 17 35 25 40 70 20 15

6 26 69 36 30 75 34 20

20 35 64 67 20 55 46 40

50 45 30 24 10 35 52 60

Prepare a frequnency distribution table by exclusive method from the marks of 40 students given
below taking the first class as 0-10 : (see lesson 6)

10 15 20 45 50 60 15 5

12 17 35 25 40 70 20 15

6 26 69 36 30 75 34 20

20 35 64 67 20 55 46 40

50 45 30 24 10 35 52 60

(b) ,d fo|ky; osQ 40 Nk=kksa osQ vFkZ'kkL=k esa izkIr vadksa dh vko`fÙk caVu rkfydk uhps nh xbZ gSA blls ^ls de*
rFk ^ls vf/d* lap;h vko`fÙk caVu rkfydk rS;kj dhft;sA (ikB 6 ns[ksa)

  d{kk fo|kFkhZ;ksa dh la[;k

0&20 5

20&40 7

40&60 23

60&80 3

80&100 2



following is the frequency distribution table of marks obtanied by 40 students economics in a
school prepare 'less than' and 'more than' cumulative frequency distribution table from it

(see lesson 6)

Class No. of Student

0-20 5

20-40 7

40-60 23

60-80 3

80-100 2

6- uhps nh xbZ ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project out of the given below.

(a) vius ifjokj dk fiNys eghus dk [kkn~; lkexzh] fctyh] f'k{kk] ifj/ku] vkokl rFkk fofo/ enksa ij fd;s tkus
okys O;; dks Kkr dhft;s vkSj mldh lgk;rk ls ,d o`Ùk vkjs[k dh jpuk dhft;sA vius losZ{k.k ds
vk/kj ij yxHkx 300&500 'kCnksa esa ,d ifj;kstuk fjiksVZ rS;kj dhft;sA (ikB 7 ns[ksa)

Find out the expenditure on food items, electricity, education, clothing, house accommodation and
miscellaneous items incurred by you family in last month and prepare a pie diagram. Prepare a
project report in about 300-500 words on the basis of your survey. (see lesson-7)

(b) fiNys 5 lIrkg esa cktkj esa miyC/ de ls de miyC/ fdUgha ikap lfCt;ksa dh dherksa osQ ckjs esa irk
yxkb;sA izR;sd lCth dh dher osQ fy;s dky Js.kh js[kk fp=k dh jpuk djsa rFkk Kkr djsa fd lfCt;ksa dh
dherksa esa o`f¼ gks jgh gS vFkok deh gks jgh gSA lfCt;ksa dh dherksa esa o`f¼@deh osQ dkj.kksa dk irk
yxk;sa@vius losZ{k.k osQ vk/kj ij yxHkx 300&500 'kCnksa esa ,d ifj;kstuk fjiksVZ rS;kj dhft;sA

(ikB&7 ns[ksa)

Enquire about the prices of at least five vegeables available in last five weeks in the market. Plot
time series graph for the prices of each vegetable and find out whether the prices of vegatables are
rising or falling. Find out the reasons for rise/fall in the prices of vegatables prepare a project
report in about 300-500 words on the basis of your survey.  (see lesson 7)
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